90







EH AR Y I | BLaudELf

92



w

X

M T -

/ P

do= '
- L ~

Cross section

S
X3
A
C— 1T—
1

Fle 4083k $82 phd 2 SR

93



s

RAFIE S KL B P 2 2R

94



()

»
7

QT-2 ST
X X
Fooye F °
F
r
Xy Xy
F/2
F
(b) ©)

QT-1- QT-2 - ST 4| §*67% & W

95

F/2



1 N+1

(i): the ith element

I : the ith node

96



97



F, = —Pcos¢® — F, sing®

4

3

F iR THRT 2 pd HE

98



tangent

| : the ith node

(i) : the ith element

B+ ®AF2Z & R%S7T

99



P
" M (b) %

g]—l-— %ﬁﬁﬁiﬁiigi@;ﬁ%/ﬁﬁ%@

100



1/C,p,

1/C,p,

1.00

Ref. [8]
----BCl
0754 0000 90X e BC2
1c, BC3
s / —————— BC4
0.50 NN P
\.h\\\\ .............. =
0.254 band of theoretical results ]
O-OO v ) v ) v ) v ) v ) v ) v ) v
-1.00 -0.75 -050 -0.25 0.00 025 050 0.75 1.00
A
Bl - () 1/C,, — A+ 5 B(W14x159 444, L=300in)
1.00
Ref. [8]
----BC1
075_ ....... BCZ
1/C, =77 BC3
. —————— BC4
0.50+ N
0.25- band of theoretical results ]
0.00 T ) v ) v ) v ) v ) ' ) ' ) '
-1.00 -0.75 -050 -0.25 0.00 025 050 0.75 1.00

A

B = (b) I/Cpp — A % %LE(W10x30 34k, L=300in)

101



1.00

0.75-

0.50 1

1/C,y,

0.25+

Ref. [8]
----BCl
....... BC2
1/c, - BC3
/ —_——m—— e BC4

band of theoretical results

0.00
-1.00

075 -050 -025 000 025 050 075

A

1.00

B+ =(c) YCpp —A ¥ SB(FFP &% (a:b=10:1),L=25¢cm)

1.00

0.75-

0.50 1

1/C,y,

0.25+

0.00

Ref. [8]
----BC1
....... BC2
1yc, ~ T BC3
/ _———— BC4

band of theoretical results

-1.00

075 -050 -025 000 025 050 075

A

1.00

B+ = (d) YCpp — A SM(FFFI% 5 (a:b=30:1), L=25cm)

102



